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ABSTRAK

Mistan Pane. 2009. Students™ Abiliy in Using Passive Voice ( suatu studi kasus),
Dibimbing oleh Drs. Agustinus Ruruk, M.A dan Drs. Abd. Madyil Dieraid, M. Hum

studi i bertwjuan unwik mengenhe: kemampuan mahasiswa kelas parallel
Jurusan  Sastra  Inggris Fakultas llmu  Budaya  Universitas  Hasanuddin  dalam
menggunakan kalimat pasif. Dalam penelitian ini, penulis menggunakan tinjauan pustaka
dan tinjauan lapangan sebagal metodeloni urtuk mengumpulkan teori-teon dan data.
Dalam tinjauzan lapangan, penulis memberikan penanyaan dalam bentuk pilihan ganda
dan essay, Populasi dari penelitian ini adaish mahasiswa paralel kelas Jurusan Sastra
Inggns Fakultas llmu Budaya UNHAS. Sample dari peneliian ini adalah sepuluh
mahasiswa angkatan 2005, Dalam menganalisa data, penulis menggunakan analisa

Rwaniitatip dan deskriptif,

Hasil dari analisis menunjukkan bshwa kemampuan mahasiswa paralel kelns
Jurusen Sastra Ingeris Fakultas limu Budaya UUNHAS dalam menggunakan kalimat pasif
adalah cukup dengan nilai rata-rata 73,6, Tenses vg dianggap mahasiswa paling sulit
dalam kaitannva membuat kalimat pasif adalah Present Parfect Tense, Simple Past Tense,

Simple Present Tense, Present Continuous Tense dan Simple Future Tense.

Wi
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CHAPTER 1
INTRODUCTION

Background

Language plays an important role in human life. It is a means of communication
in conveying ideas, thoughts, and expectation one to another. Language has some norms
and rules which should be obeyed by the vsers; likewise grammar is important to know

the ways in making pood sentences.

Mastering English languapge involves 4 skills. They are listening, speaking,
reading, and writing skifls. Furthermore, grammar should be taught to support the
improvement of the students on these 4 skills. Some of the English grammar rules are not

hard to be learnt but some others can be difficult if we do not put much attention on it,

In fact, there are many kinds of sentences; one of them 1s passive voice sentence,
This 1s always found in all text books that are why this is so important for the English
learners. Actually, in mastering all aspects of English language especially passive voice,
students still have some difficulties. They sometimes face problems in using passive

volcE.

Because of the reason above, the writer would like to investigate some of the
UNHAS’ students, Faculty of Cultural Science, English department in using passive

voice sentence appropriately.
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Identification of Problems
Based on the facts the writer states above, some problems might occur, they are;

l. Indonesian English learners do not master tenses in relation to use passive voice

sentences.
2, The students have difficulty in using passive voice.
Scope of Problem

In order not to make the discuss too wide the writer would like to investigate only
5 out of 16 tenses in constructing passive sentences, they are simple present tense, present

continuous tense, present perfect tense, simple past tense and simple future tense,
Statement of problems

1. What 1s the level of students’ ability in using passive voice sentences?

2, What is their mean score?

3, Which passive voice tense (s) did they find the most difficult in using passive

voice sentence?
Objective of Writing
The objectives of writing this paper are:

1. To disclose the levels of students” ability in using passive voice sentences.

2. To know the mean score obtained by students in using passive voice sentences,
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3. To investigate the most difficult passive voice tense (5) in using passive voice

sentences?
Significant of Writing
1. This increases the writer's understanding in analyzing the use of passive voice.

2. As a research result can be relevant for the students who want to discuss the same

topic,
Methodology
To get enough materials or data, the writer uses the following methods:
1.7.1 Library Research

In this study, the writer collects theories by reading some books related to

the topic, in order to support this research.

1.7.2 Field Research

To get the data in question, the writer carnes out this research by doing the

following methods:
1.7.2.1 Method for Collecting Data

In collecting the data, the writer gives written tests to the students.

The tests are divided into two parts as follows:

TP The first part 15 a multiple choice test which consists of 20 items.

For this test, students are asked to complete the blank space with
3



appropriate form of tenses. In this part, there are four choices for
each question to be chosen by the students. One of the choices is a

corTect answer,

'\‘.'

The second part is an essay test which consists 10 items. For this
test, students have to write the appropriate form of passive voice

based on the use of tenses.

1.7.2.2 Method for Analyzing Data

In analyzing the data, the writer uses the descriptive method. This

method is carried out with the following work procedures, as follows:

Step one

The data are classified into groups, they are multiple choice test and essay
test. The result of each test is tabulated then the score of each student can
be seen in each table. In each table, the writer shows the students’ score

from the highest scores to the lowest scores.

Step two

The writer presents and focuses his analysis on the students’ scores based
on the number of correct answers. In this part, the writer also analyzes
each item of the two test and shows the reason why some options chosen
are the correct and incorrect answers. The writer gives 1 point for every

correct item m test [ and 2 point for every correct answer in test 11



Step three

The writer tabulates the students® performance in test I and test I in one

table.

To classify the studemts’ achievement, the writer divides the

criteria into 5 levels. They are as follows:

Excellent : 86— 100
Good J 76 - 85
Fair ; 66 - 75
Poor ] 56 — 65
Very poor ; 0-35

Furthermore, the writer also shows the students score with the

following formula:

Total Score

Mean score =

Number of students (frequency)



1.8  Population and Sample
1.5.1 Population

The population that the writer takes is the students of parallel-class English

Department, Cultural Science Faculty, Hasanuddin University.
1.3.2 Sample

! The sample of this research is the students of seventh semester at parallel-class,

English Department, Cultural Science Faculty, Hasanuddin University.




| CHAPTER I1

THEORITICAL BACKGROUND

IL1  TENSES

In English, studying the grammatical form of verb cannot be separated from tense.

The definition of tense is given by

Cheong (198:90) “Tense is variation of a form of a verb to indicate the time of the action

or state expressed by the verb.”

According to the definition above, we can conclude that there are only two tense

in English, the past and non-past. The past tense is wsed for anything that is in the past,

, while the non-past tense is used for anything that is non-past; they are the present and the
future. In this case, the tenses above are divided into some aspects. For example, the
present tense consists of four aspects; they are the simple present tense, the present
continuous tense, the present perfect tense, and the present future tense. Similar to the

present tense, the past and the future tenses are divided nto some aspects too.

In this paper, the writér is not going to analyze the passive voice and its relation to

all the tenses mentioned above, but the writer limited it only 5 tenses.
| 1L.1.1 The Simple Present Tense

We use the simple present tense to talk about repeated action or habits,

and things which are generally true.
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Form : infinitive + sles

For example - a. I always have my breakfast in the morming.
b. I go for a walk to school every day.
c. The Earth goes around the sun.

The sentences a and b above are formed in the present simple tense
because the two sentences show the things that the doer do repeatedly, and they
are the habitual or daily activity of the subjects. While the third sentence shows
the general truth that cannot be denied. This sentence is added with “es” because

the subject is the third person singular.
1I.1.2 The Present Continuous Tense

The present continuous tense is used to talk about the action that is sull

going on at the time of speaking.
Form - be (am, is, are) + V-ing (present participle)
For example : 1. My mother is making cakes in the kitchen now.

2. They are studying English at the moment.

Sentence 1 shows the doer “My mother™ 15 still doing something that is
“make”, This sentence also supported by the adverbial of time “now™ that shows
the action is still going on. Similarly, the second sentence is still going on. It can

be proved by paying attention to the adverbial of time “at the moment™.
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11.1.3 The Present Perfect Tense

The present perfect tense represents an action or event that started in the
past continuous up to the present. It is also used for the thing that happen during a

period of time that continuous up to the present.
Form : have/has + past participle
For example . a. she has lived in Pangkep for three years.
b. I have been to London.

In this sentence a above, it shows that the subject (the doer) of the
sentence start living in Pangkep three years ago, until now she still living in

Pangkep. While in sentence b, the doer has ever been to London in his life.
11.1.4 The Simple Past Tense

The simple past tense is used to represent an action that took place at the
some point of time in the past. It usually refers to something that happened at

definite time in the past and it is no longer true at the moment.
Form : § + past tense
For example : a. | lent her my book yesterday.
b, how did you break the window?

¢. Putri went to campus an hour ago.



“Yesterday” in the first sentence indicated the time of the action (past). In

the second sentence, the time of the action is not mentioned here but the action

obviously took place in the past. While in the last sentence, there is an adverbial
of time “ago”. “Apo™ is usually associated with the simple past. It points to a date

or period of time which is measure back from the present,

ILLS The Simple Future Tense

The tense is used to talk about an action or event will take place in the future.

Form - willfshall + infinitive

For example : &, | will post the letter tomorrow,
b. Nelly will join the competition next month.

|

' Both of these sentences show an action that will be done by the doer in the
! future.

i

IL2  Active and Passive Voices

In English grammar, there are two kinds of voices that we know. Horn by

(1995:1332) states “voice is a form or set of forms of a verb in which either the person or

thing that does something is the subject of the verb (the active voice) or the person or

e ——

thing that is affected by the action of the verb is the subject (the passive voice)”

According to the definition above, it is so clear that the voice consists of two kinds.
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1L.2.1 Active Voice

The active is the form of a verb whose subject is the person or thing that

performs the action. In active, the subject (person or thing) does something.
For example : a. John studies the listory book.
b. My mother cooks rice in the kitchen,

These sentences show that the subjects do something. [f we want to
change the sentences above to the passive voice, the objects of the two sentences
become the subjects of the passive. The form of the two sentences can be changed

as follows:
a. History book is studied by John.
b. Rice is cooked by my mother in the kitchen.
11.2.2 Passive Voice

In the passive voice, the object of an active verb becomes the subject of

the passive verb. The passive voice states that something is done to the subject.
For example : a. My brother drives a car,

b. She sang a nice song.
These sentences can be changed to the passive:

a. A car is driven by my brother.

11
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b. A nice song was sung by her.

Mot all the kinds of verb can be changed into the passive. Only transitive
verbs (verbs that are followed by an object) that can be put into the passive, while

the intransitive verbs {verbs that have no object) cannot be put into the passive.

For example:
1. Active : Jenny opens the door
Passive : The door is opened by Jenny
2. Active : The boys sing beautifully
Passive : none

Sentence 1 can be changed to the passive since the active form of this
sentence has an object and a verb “open” is the transitive verb, whereas the
second sentence has no passive form because the active form of the sentence does

not have an object.
11.2.2.1Passive voice in the Simple Present Tense
Form : Active : § + infinitive (s/es)
Passive - § + to be {am, is, are) + VIII (past participle)

The active voice form of the simple present is very different to the

passive form, The subject of the passive is followed by “to be” (present

12



form) and to be that we used here have to agree with the subject. Then, it

is followed by past participle.

For example: Active : A famous architect designs the building

Passive: The building is designed by a famous architect

11.2.2.2 Passive voice in the Present Continuous Tense

Form : Active : § + to be + V ing (present participle)
Passive - § + to be + being + V111 {past participle)
For example:

1. Active : Jimmy is washing my car
Passive: My car is being washed by Iimmy
2. Active : Indra is playing basketball
Passive: Basketball is being played by indra

Making a passive sentence in the present continuous tense 15 not
too different to the active voice. After changing the object of the active
becomes the subject of the passive, it has to be followed by “to be” (in the

present form), then “being™ plus past participle.
11.2.2.3The Passive Voice in the Present Perfect Tense

Form : Active : have/has + VIII (past participle)

13
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Passive - have/has + been + VIII

The passive form of this tense is almost the same as the active
form. The different is, after the auxiliary (have/has) we have to put “been”

then past participle.

For example
1. Active : Yaya has made good progress.
Passive . good progress has made by Yaya.

2. Active : They have read those books.

Passive : Those books have been read by them

11.2 2 4 Passive Voice in the Simple Past Tense

Form : Active : § + past tense
Passive : § + to be (was, were) + VIII (past participle)
For example:
Active - I bought a new computer yesterday
Passive : A new computer was bought (by me) yesterday

Changing active sentence of the past simple to the passive is very

simple. After the object of the active is changed becomes the subject of the

14
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passive, it should be followed by “to be™ (in the past tense form} which

apree with the subject, then past participle.

11.2.2 5Passive Voice in the Simple Future

Form : Active : 5 + will/shall + infimitive
Passive + & + will/shall + be + VIII
For example:
1. Active : She will meet me tomorrow
Passive : I will be met by her tomorrow
2. Active < My father will buy a house next week
Passive : A house will be bought by my father next week

After the subject of the passive in simple future tense, it has to be
followed with the modal verb. Then, the modal verb is followed by “be”

plus past participle.
The Form of Passive Voice

The passive voice is formed by putting the verb “be” like the tense of the active

verb and adding the past participle after “be”.
Form - be + past participle
For example : Active : Linda helped the old lady

15
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Passive : The old lady was helped by Linda

In the passive, the object of an active verb becomes the subject of the passive
verb: “the old lady™ in the active sentence above becomes the subject of the passive verb
in the second sentence. In this sentence, the object “the old Lady” is followed by “was™

since the form of the active sentence is in the pasi tense.
The Passive Voice with Two Objects

When a simple sentence in active has two objects, the sentence can be put into the
passive. The original object of the sentence becomes the subject and the original subject

becomes the object of the preposition by.
For example : Hasanuddin University gave Mr. Hamka an award

This sentence has two objects. They are “Mr. Hamka™ (indirect object) and “an
award” (direct object). Either an indirect object or a direct obyect may become the subject

of a passive sentence. The passive form of the sentence above can be:
a Mr. Hamka was given an award by Hasanuddin University
b. An award was given by Hasanuddin University to Mr. Hamka

The sentence (a), indirect object becomes the subject, while the sentence (b),
direct object becomes the subject, when the direct object becomes the object of the
passive, “to” is usually used in front of indirect object. Generally, in the simple sentence
with two objects, the first object is a person (a group of people) and the second object is
thing. The first object called indirect object and the second one is direct object.

16
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Sometimes, in the active sentence, we find the object of sentence is pronoun,

For example 1 lent him a book

If we want to change this sentence into the passive, the personal pronoun “him™
have to be changed becomes “he” in the passive (if we want “him” become the subject in

the passive). So, the sentence above can be changed become “he was lent a book™,

The Use of Passive Voice

There are some specific situations where the passive is used rather than an active:

1. The passive is used when we do not know the active subject (agent) or when the

active subject is not too important.

For example: Jenny is supposed to go

In this sentence, we do not know who the agent is (the active subject) or it

is not important to know exactly who supposed Jenny to go.

; 3 We use the passive when we want to focus attention to the action than the doer.

For example: the water is boiled in 100 degrees centigrade.

In this sentence, the action is more unportant than the doer.

3. The passive is used when the subject of the active sentence is the “impersonal”

For example: The wall is painted (by them)

17
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This sentence is a passive impersonal sentence. It tells what is done. The

person or thing which is the doer or the action may not be mentioned.

We use passive to say something that we arrange for somebody else to do

something for us (have something done)
Forim - Have + object + past participle
For example [ have my car repaired
In this sentence, the doer arranged for somebody else to repair it

We can also use “get” instead of have. This is normally used in informal

spoken English.

For example : 1 think you should get your room cleaned.



3.1

CHAPTER LI
PRESENTATION AND ANALYSIS OF DATA

in this chapter, the writer would like to present and analyze the data taken from
the 10 students of Reso class English Department Cultural Science Faculty Hasanuddin
University. The data are collected through a field-research by giving the students written
tests. The tests given to them consist of 75 items which are divided into two parts. In part
one; students are given 50 items with four choices for each item. The form of these
questions is multiple choice tests, in which the students should choose one of correct
answer from the four options. In part two, the students are given 25 items which consist

of essay test in the form of changing the active — voice into the passive — voice.

The data collected from students are tabulated into ten tables. The first and third
tables consist the number of students who give correct and wrong answers. The second
and fourth tables consist of the students’ score in answering the test I (multiple choice
tests) and test 1] (essay test). Fifth table shows the students’ scores in the test | and the

test [1. The sixth to tenth tables show the students’ score per tense,
Presentation and Analysis of Data I (Multiple Choice Tests)

In this part, the writer presents and analyzes the obtained data from the multiple
choice test, The presentation and analysis of data are based on the comect and incorrect
answers in each item. The option with the bold-italic print is the correct answer in each
item and the figures after each option show the number of the students who chooses the
option.

13
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Table 1:

Students’ score of Test |

The number of students who gives

No Ttems

Correct %o Wrong Yo
1 I 7 70 3 30
2 2 3 50 - S0
3 3 7 70 3 30
4 4 6 G0 4 40
5 5 5 50 5 50
6 f 8 80 2 20
7 7 6 Gl 4 40
8 B 3 50 5 50
9 9 7 70 3 30
10 10 5 50 5 50
11 11 6 60 4 40
12 12 6 60 4 40
13 13 9 90 1 10

14 14 10 100 0 0
15 15 5 50 5 a0
16 16 7 70 3 30
17 17 6 60 4 40
18 18 8 80 2 20
19 19 6 G0 4 40
20 20 5 50 5 50
21 21 7 70 3 30
22 22 6 60 4 40
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49 49 7 70 3 30
50 50 8 80 2 20

01. Jane: hasn’t Anita subimitted her report yet?

John: | don’t think so, 1t ......covvvene,
a. s printing (=) c. is being printed { 7 )
b. was being printed { 1 ) d. has been printing { 2 )

There are 7 (70%) students who choose c is being printed as the correct answer
and there are 3 (30%) students who choose the wrong answers. One student chooses b

was being printed, 2 students choose d has been printing.

Option a is the incorrect answer because the form of this option in the active form.
Then, option b and d are the incorrect answers because the forms of these options are
not the same as the form of this sentence. Option b is in the past continuous tense and
option d is in the present perfect tense, whereas the sentence needs an answer in the
present continuous tense. Beside that, the verb of option d is in the present participle
form, while in the passive voice all the verbs have to be put in the past participle

form.

The correct answer is option ¢ because this option is in the passive form; it is mn
the present continuous tense. This tense is formed by adding “being™ (the replacement

of continuous form of this sentence) after the auxiliary (“be” in the present form) plus

22



02,

past participle. Because the subject of this sentence is the third person, the auxiliary

used is “is”, So, the appropriate form is the option c.

A newcar ... ...... by my father a week ago.
a. ishought(2) c. has bought({2)
b. bought{1) d. was bought ( 5)

Far this item, there are 5 (50%) students who choose the correct answer d was
bought, but 5§ (50%) students choose the wrong answers. There are 2 students who
choose a is bought and there are also 2 students who choose ¢ has bought, There is

only one student who chooses b bought.

Option a is not correct because the auxiliary in this option is in the simple present
form, while the sentence is in the past simple. It can be seen by the adverbial of time
“a week ago”. That is why option a is not the correct answer. Then, option b is not
correct answer because there is no to be in this option. It should be remembered that,
in the passive the auxiliary verbs have to be written and no to be omitted. Option ¢ is

not appropriate because it is in the active form.

Ciption d is the correct answer because it has the same as form with this sentence.
It is in the passive form of the simple past. The form of the simple past in the passive
is to be (in the past form) plus past participle. The auxiliary in this sentence should be

“was” because the subject is singular and the appropriate answer is option d.
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03. Five of the committee members will be unable to attend the next meeting. In my

opinion, the meeting ......
a. will be postponed (7 ) c. will postpone( 1)
b. is be postponed( 1) d. postponed (1)

The correct answer is given by 7 (70%) students by answering a will be

postponed but 3 (30%) students answer wrongly. one student chooses b is be

postponed, 1 student chooses ¢ will postpone, and | student chooses d postponed.

Option b is the incorrect answer because its form is not appropriate with this
sentence. This option is in the passive form of the simple present tense while this
sentence needs an answer in the simple future tense. The option ¢ s not correct
because there is no “be” after the auxiliary whereas in the passive form of the simple
future tense, we have to put “be” after the modal verb. The verb of this option also is
in the infinitive form not in the past participle. Then, option d is the incorrect answer

because it is in the active form.

The correct answer in this item is a will be postponed because its form is in the
passive form of the simple future tense, in which after the modal verb (shalliwill)

should be followed by “be” plus past participle. This form is appropriate with the

option a.
04. An unexploded bomb .......... in Singapore Embassy.
a. arefound(2) c. have been found ( 2 )
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b. has been found (6 ) d. is finding (-)

In answering the above item, 6 (60%) students who answer correctly by choosing
b has been found and there are 4 (40%) students who answer wrongly. There are 2

students who choose a are found, 2 students who choose ¢ have been found.

The correct answer is b because this option is in the present perfect tense in the
passive form, This sentence is formed by adding “been” afier the auxiliary “have/has”
then it is followed by past participle. The auxiliary used in this sentence is “has”

because the subject is singular. So, the appropriate form 15 option b,

Option a is the incorrect answer because the form of this option is not appropriate
with the sentence. This option is in the simple present while this sentence needs an
answer in the present perfect tense, Besides that, the auxiliary in this option does not
agree with the subject. The auxiliary that should be used is “has” because the subject

is singular, Then, the option d is not the correct answer because its form is n active,

It is a big factory. Six hundred people ........... there,
a. are employed ( 5) c. has been employed (2 )
b. is being employed (2 ) d. were employed (1)

There are 5 (50%) students who choose a are employed as the correct answer and
there are 5 (50%) students who choose the wrong answers. 2 students choose b is

being employed, 2 students chioose ¢ has been employed and there i1s one student

who chooses d were employed.
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For this item, the correct answer is option a because this option is in passive form
of simple present tense. This tense is formed by putting “to be” (in the present form)
after the subject and it is followed by past participle. “Are™ is used as the auxiliary in

this sentence because the subject is plural.

Option b is not correct because the auxiliary does not agree with the subject.
While, the option ¢ and d are the incorrect answers because the forms of these two
options are not the same as the form of this sentence. Option ¢ is in the present perfect

tense while the option d is in the simple past tense.
X: Can I borrow your motorcycle?

Y: Centainly, but what’s wrong with yours?

Mot NOW
a. is repairing (2 ) ¢. has been repaired ( - )
b. is being repaired (8 ) d. was repaired ( - )

The correct answer is given by 8 (80%) students by answering b is being

repaired but 2 (20%) students answer wrongly. The both students choose a is

repairing,

Option a is the incorrect answer because it is the active form. While the options ¢
and d are the incorrect answers because the forms of these two options are not the

same as the form of this sentence.
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The answer of this sentence is in the present continuous tense the same as the
form of this sentence. After the subject of this sentence, it has to be followed by “is”

because the subject is singular.

07. Try to speak slowly when you give your speech. If you don’t, some of your words.....

a. will be understand { 2 ) ¢. were understood (1)
b. have been understood (1) d  won't be understood ( 6)

There are 6 (60%) students who can answer correetly by choosing d won't be
understood and there are 4 (40%) students who choose the wrong answers. Two
students choose a will be understand, one chooses b have been understood, and

one chooges ¢ were understood.

Option d is the correct answer because this option is in the simple future form.
This sentence needs an answer in negative form, So, after the modal verb, we have to

put “not” then “be” plus past participle.

Option a is the incorrect answer because the verb of this option is in the infinitive
form. 1t should be in past participle form. Besides that, this option is not in the
negative form. Option b and ¢ are the incorrect answers because the forms of these
options are not appropriate. Option ¢ is in the simple past tense and option b is in the

present perfect tense. These two options also are not in negative form.

08. Rudy’s bedroom always looks tidy. It ...... everyday

a. Cleans(3) c. iscleaned (5)
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b. has been cleaned ( 1 ) d. was cleaned (1)

For this item, there are 5 (50%) students who choose the comect answer c is
cleaned but 5 (50%) students who choose wrong answers, There are 3 students who

choose a cleans, | student who ¢hooses b has been cleaned, and one students who

chooses d was cleaned.

Option a is the incorrect answer because it 15 in the active form. It can be seen by
the verb that is in infinitive. Then, option b and d are not the correct answers because
the forms of the two options are not appropriate. Option b is in the present perfect

tense and option d is in the simple past tense.

The correct answer is ¢ because this option is in the simple present tense which

has the same form with this sentence. So the correct answer is option c.

. Makassar Trade Center .......... in 2003
a. is being built (- ) c. has been built (2 )
b, was built ( 7) d isbuilt {1}

There are 7 {70%) students who choose b was built as the correct answer and
there are 3 (30%) students who choose the wrong answers. There is only one student

who chooses d is built, 2 students choose ¢ has been built.

The correct answer in this item is option b because this option is in the simple past

tense of passive. This has the same form with the sentence above.



Option a, ¢, and d are the incorrect answers because these options are not
appropriate with the time adverbial of this sentence. Option a is in the present perfect
tense, option d is in the simple present tense, while the sentence above needs an

answer in the simple past tense.

10. A number of houses ......... in the earthquake.

a. have been destroved{4) ¢ has been destroyed ( 5 )
b. was destroy (1) d. being destroyed ( - )

For this item, there are 5 (50%) student who cheose the correct answer ¢ has been
destroved but 5 (50%) students who choose wrong answers, There are 4 students

who choose a have been destroyed, one student who chooses b was destroy.

Option a is incorrect answer because the auxiliary of this option does not agree
with the subject. The auxiliary “have” is used to the subject in plural while the subject
in this sentence is singular {collective noun). It should be “has”. The option b 1s not
appropriate because the verb of this option is in the infinitive form, while the verbs of
the passive should be in the past participle form. Option d is the incorrect answer
hecause its form is in the continuous tense which is not appropriate with this

sentence, In this option, there is no auxiliary too,

In this item, the comrect answer is option ¢ because its form is in the present
perfect tense. It 1s formed by putting auxiliary (have'has) afier the subject followed by
“been” plus past participle. The auxiliary needs in this sentence, is “has™ because the

subject is singular (collective noun).
29



11. The Church tower ... ...... at the moment.

a. will be restored ( 2 ) ¢. are being restored (1)
b. is being restored ( 6 ) d. being restored (1)

In answering the above item, & (60%) students answer correctly by choosing b is
being restored and there are 4 (40%) students who answer wrongly, Two students
choose a will be restored, 1 student chooses ¢ are being restored and there is also

one student who chooses d being restored.

Option a is not the correct answer because its form is in the simple future, while
the answer should be in the present continuous tense, Option ¢ is not correct answer
because the auxiliary “are” in this option does not agree with the subject. Then, the
option d is not the correct answer because there is no “be”™ before being. While in the
present continuous tense in the passive form, before “being” we have to write “be™ (in

the present form).

The correct answer in this item is option b because its form is appropriate with
thizs sentence. To be in this sentence should be “is™ because the subject of this
sentence is singular and the form has to be in the present continuous tense. 1t can be

seen by the adverbial of time “at the moment”.
12. We were driving along quite fast but we ..... by lots of other cars.
a. areovertaken(2) c. overtaken (1)

b. hawve been overtaken( 1) d were overtaken (6 )
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There are 6 (60%) students who answer correctly by choosing d were overtaken
but 4 (40%) students answer wrongly, Two students choose a are overtaken, 1

student chooses b have been overtaken and 1 student chooses ¢ overtaken.

The correct answer is option d because it has the same as form with the active
form. It is in the simple past tense. The auxiliary of this sentence also agrees with the

subject. The auxiliary is “were” because the subject is plural.

Option a is the incorrect answer because this form is in the simple present form
while the answer should be the past simple tense. Similarly, the option b is not correct
because its form is in the present perfect form. Then, the option ¢ is the incorrect

answer because this option is in the active form,

| cannat type my paper now because the computer ....... by my brother,
a. arebeingused (1) c. areused(-)
b. have been used ( - ) d is being used (9 )

For this item, there are 9 (90%) students who choose the correct answer d is being

used, and there is only one (10%) student who chooses the wrong answer. This

student chooses a are being used,

Option a is not comect because the anxiliary does not agree with the subject. In
this option the auxiliary is “are” that is used for the plural subjects while the subject
of this sentence is singular. Option b is in the incorrect answer because its form is in

the present perfect form while the answer should be in the present continuous passive
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form. Similar to the option b, option ¢ is not correct because its form is in the simple

present tense.

Option d is the correct answer because the form of this option has the same as
form with the sentence. It is in the present continuous tense of passive form in which

this sentence is formed by adding “being” after the auxiliary used is “15".

. An art exhibition ... ..... in Karebosi Square next week.
a. has been held ( -) c. is holding ( - )
b. will be held { 10 ) d, held(-)

In answering the above item, all of the 10 (100%) students answer comectly by

choosing b will be held and there is no student who answers wrongly.

Option a is the incorrect answer because its form is not appropriate. This option 1s
in the present perfect tense while the sentence is in the simple future tense. It can be
seen by the adverbial of time “next week™, Then, the option ¢ 15 not correct because 1l

iz in the active form. Similar to the option ¢, option d is in the active too.

Option b is the correct answer because only this option is in the simple future

tense of passive. Its form the same as the form of this sentence.

15. Molly is looking forward to her birthday because she ...... a new watch.

a. promises(3) ¢. has been promised ( 5)

b. has promised ( 1) d. has been promising (1)
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The correct answer is given by § (50%) student by choosing ¢ has been promised
and there are 5 (50%) students who choose wrong answers. 3 students choose a
promises, one student chooses b has promised and there is also 1 student who

chooses d has been promising,

The correct answer in this item is option ¢ because this option is in the present
perfect tense of passive form which is the same as the form of this sentence. The
appropriate auxiliary should be “has™ because the subject is singular (third person).

So, the correct answer is option c.

Option a and b are not appropriate because they are in active form, The option d is
incorrect because the verb of this option is in the present participle while in the

passive voice the verb should be in the past participle.

In Indonesia, the election for President ... ... every five years.
a. isheld(7) ¢, were held(-)
b, hold(2) d archeld( 1)

There are 7 {70%) students who choose a is held as the correct answer and there

are 3 (30%) students who choose the wrong answers. 2 students choose b hold, |

student chooses d are held.

Option b is the incorrect answer because the form of this option is in the active,

The option ¢ is the incorrect answer because itz form is in the past simple passive
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form that is not appropriate with the sentence, The passive form of this tense is

indicated by putting “be” (in the present form) plus past participle.

17. We ........ by a loud noise last night.
a. were woken up (6 ) c. was wokenup(-)
b. wokeup(1) d. have been woken up (3 )

For this item, there are & (60%) student who choose the correct answer a were
woken up, but 4 (40%) student choose the wrong answers. 3 students choose d have

been woken up and one student chooses b woke up.

Option a is the comrect answer because its form has the same as form with the
sentence, It is in the simple past tense. Besides that, the auxiliary used in this option is

“were” because the subject is plural. That is why this option is correct.

Option b is not correct answer because this form is in the active. Then, option ¢ 15
the incorrect answer because the auxiliary “was” does not agree with the subject. The
auxiliary used should be “were”. Option d is incorrect because its form is not the same

as the form of this sentence. The answer should be in the simple past tense while the

option is in the present perfect tense.

18. Next month will be Ani’s birthday. All of her friends ........ to attend her party.
a invited (-) c. is being invited { - )
b. has been invited { 2 ) d. will be invited ( 8 )
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The correct answer is given by 8 (80%) students by answering d will be invited

but 2 {20%) students answer wrongly. Both students choose b has been invited.

Option a is the incorrect answer because there is no “be” in front of the verb,

Then, option b is not correct because its form is in the present perfect tense while the

answer should be in the simple future tense. Option ¢ is not the comect answer

because the auxiliary in this option is “is™ that is used for the singular subject whereas

the subject of this sentence is plural,

In this item, the correct answer is option d because this sentence needs an answer

in the simple future passive form which is the same as the form of this ophion,

19. The park pates ........ at 7 pm every evening.
a arelocked (6) c. was locked ( -)
b. locks(3) d. is being locked (1)

There are 6 (60%) students who choose a are locked as the correct answer and

there are 4 {40%) students who choose the wrong answers, 3 students choose b locks

and there is only one student who chooses d is being locked.

The correct answer of this item is option a. Besides the form of this option is the

same as the form of the sentence, the auxiliary in this option also agree with the

subject,
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Option b is the incorrect answer because its form is in the active. While the forms
of the options ¢ and d are not the appropriate answer. Option ¢ is in the simple past

and option d is in the present continuous tense.

20. The dishes ......... by my younger sister.
a. have washed ( 1) ¢ have been washed (5 )
b. has been washed { 2 ) d. 15 being washed { 2)

In answering the above item, 5 (50%) students answer correctly by choosing ¢
have been washed and there are 5 (50%) students who answer wrongly. There are 2
students who choose b has been washed, 2 students choose d is being washed and

there is only 1 student chooses a have washed.

Option a is the incorrect answer because its form is in the active. The option b can
be the correct answer but the auxiliary “has™ does not agree with the subject. Similar
to the option b, option d is the incorrect answer because the auxiliary “is" does not

agree with the subject,

For this item, the correct answer is option ¢ because this option has the same as
form with the sentence, Because the subject is in the plural form, the auxiliary used is

“have”. So the correct answer is option c.

21. Mr. Rudy .......... as a headmaster last year.
a. was chosen (7 ) ¢. chose(-)
b. was choosing (1) d. has been chosen( 2 )
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For this item, there are 7 (70%) students who choose a was chosen as the correct
answer, but 3 (30%) student choose the wrong answers. One student chooses b was

choosing, and 2 students choose d has been chosen.

Option a is the correct answer because it is in the simple past tense of passive.

This has the same form with the sentence above,

Options b and d are the incorrect answers because these ophions are not
appropriate with the time adverbial of this sentence. Option b is in the past contimuous
and option d is in the present perfect tense, while the sentence above needs an answer

in the simple past tense. Option ¢ is not correct answer because its form 1s in the

active.

Every year, a big amount of tax ......... to the state by the cigarette company.
a. wasgiving (1) c. gave(l)

b. isgiven (6) d. has given(2)

There are & (60%) students who choose b is given as the correct answer and there
are 4 (40%) students who choose the wrong answers. 2 students choose d has given,

1 student chooses a was giving and there is also 1 student who chooses ¢ gave.

Options a, ¢, and d are the incorrect answers because these options are in the

aclive forms.

The correct answer in this item is option b because this option is in the simple

present tense of passive. This has the same form with the sentence above,
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The ordered furniture ...... by the store next week,
a. will deliver ( 2) c. is delivered(-)
b. has been delivered ( - ) d. will be delivered ( 8 )

In answering the above item, 8 (80%) students answer correctly by choosing d
will be delivered and there are 2 (20%) siudents who answer wrongly. The both

student choose a will deliver.

Option d is the comect answer because this sentence needs an answer in the

simple future passive form which 15 the same as the form of this option,

Options b and ¢ are the incorrect answer because these options are not appropriate
with the time adverbial of this sentence “next week™. Option b is in the present
perfect tense and option ¢ is in the simple present tense, while the sentence above

needs an answer in simple future form. Option a is not correct because it is in the

active form.

The food ...... by my mother in the kitchen now.

a. iscooking(-) ¢. has been cooked ( - )
b. is being cooked ( 10 ) d. will be cooked ( - )

For this item. all the students (100%) choose b is being cooked as the correct

answer and there is no student who chooses the wrong answer.
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Option a is the incorrect answer because it is in the active form. Options ¢ and d
are mot correct answer because these options are not appropriate with the time
adverbial of this sentence “now”, option ¢ is in the present perfect and option d is in

the simple future tense, while this sentence needs an answer in the simple present

continuous tense.

Option b is the correct answer because it is in the present continuous tense of
passive form in which this sentence is formed by adding “being™ after the auxiliary

used 15 “is™. So, the correct answer is b.

The flowers ... .... by the gardener.

a. watered( 1 ) ¢. iswatermg (1)

b. have been watered ( 5) d. has been watered ( 3 )

There are 5 (50%) students who choose the correct answer b have been watered
but 5 (50%) students choose the wrong answers. There are 3 students who choose d

has been watered, 1 students choose ¢ is watering and one student chooses a

watered.

The correct answer is b have been watered because this option is in the present

perfect tense in the passive form. This tense is formed by adding “been™ after the
auxiliary “have/has” then it is followed by past participle. The auxiliary used in this

centence is “have” because the subject is plural. 50 the appropriate form is option b.
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Options a and ¢ are not the correct answer because these option are in active form.
Then, option d is not the correct answer because the auxiliary of this option does not

agree with the subject. The auxiliary “has" is used to the subject in singular while the

subject of this sentence is plural.

. This morning, my son ......by a dog.

a. bite c. was bitten ( 6 )

b. has been bitten( 3 ) d. was biting( 1)

In answering the above item, 6 (60%) students answer correctly by choosing © was
bitten and there are 4 (40%) students who answer wrongly, Three students choose b

has been bitten, 1 student chooses d was biting.

Options a and d are not the correct answers because these options are in active
form. Option b is not correct answer because its form is in the present perfect tense,

while the answer should be in the simple past tense, it can be seen by the adverbial of

time “this morning”

The correct answer in this item is option b because its form is appropriate with this

sentence. To be in this sentence should be “was” because the subject is singular and

plus past participle. The appropriate answer is option b.
Many accidents ........by dangerous driving

a. are cansed (7 ) ¢, were caused (2 )

b. being cavsed ( - ) d. will be caused (1)

40




28.

There are 7 (70%) student who choose a are caused as the correct answer and
there are 3 (30%) students who choose the wrong answers. 2 students choose ¢ were

caused and there is only 1 student who chooses d will be caused.

Option b is incorrect answer because its form is not appropriate with this sentence
and there is no “be” before being. Options ¢ and d are also not appropriate with this
sentence, option ¢ is in the simple past and option d is in the simple future tense,
while the answer should be in the simple present tense. The passive form of this tense
15 indicated by putting “be” (in the present form) plus past participle. 5o, the correct

answer 1s option a.

There is a very big problem. It ........by all the members in the next meeting.
a. Discussed (1) c. will be discussing ( 2 )
b. have been discussed d.  will be discussed ( 7 )

For this item, there are 7 (70%) students who choose the correct answer d will be

discussed, but 3 students choose the wrong answers. One student chooses a

discussed and 2 student choose ¢ will be discussing.

Option d is the correct answer because its form has the same form with the

sentence. It is in the simple future tense. The passive form of this tense is seen by

putting “be™ after the auxiliary plus past participle.
Options a and ¢ are not the correct answers because these options are in active
correct answer because its form is not appropriate with this

form. Option b 15 not
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sentence. It is in the present perfect, while the answer of this item should be in simple

future tense because there is adverbial of time “next meeting”.

You cannot borrow the novel. It .__........ by my voung brother.
a Read (1) c. wasread( 1)
b. has been read ( 2 ) d. is being red (6 )

In answering the above item, 6 (60%) students answer correctly by choosing d is
being read and there are 4 (40%) students who answer wrongly, There is | student
who chooses a read, 2 students choose b has been read and | student chooses ¢ was

read.

Option a is the incorrect answer because its form is in active. Options b and ¢ are
incorrect answers because both aptions are not appropriate with this sentence. Option
b is in the present perfect and option ¢ is in the simple past tense while we need an

answer in the present continuous tense.

For this item, the correct answer is d because the form of this option has the same
as form with the sentence. It is in the present continuous tense of passive form in

which this sentence is formed by adding “being™ after the auxiliary used is “is”. The

correct form is the option d.

The thief who stole my goods ........ by the police.

a. being arrested ( - ) e has been arrested { 8 )

b, arrested( - ) d, wasamested (2)
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There are 8 (80%) students who choose ¢ has been arrested as the correct answer

but 2 students choose the wrong answer, Both students choose d was arrested.

The correct answer of this item is ¢ because its form is in the present perfect
tense. It 1s formed by putting auxiliary (have/has) after the subject followed by “been™

plus past participle.

Option a is incorrect answer because its form 15 in the continuous tense which is
not appropriate with this sentence. In this option, there is no auxiliary too, Option b is
not correct answer because its form is in active. Option d is incorrect answer because
its form is not appropriate with this sentence. 1t 1s in the simple past tense while this

sentence needs an answer in the present perfeet tense.

Yesterday, a lot of money .......in the robbery.
a. has been stolen (2 ) c. have stolen ( - )
b. was stolen { 7 ) d. isstolen(1)

For the above item, 7 (70%) students choose the correct answer b was stolen and

there are 3 (30%) students who choose the wrong answers, 2 students choose a has

been stolen and 1 student chooses d is stolen.

Options a and d are INCOTTECE ANSWETS because the forms of these options are not

appropriate with this sentence. Ciption a is in the present perfect and option d is in the

simple present while the answer of this sentence should be in the simple past form.

Option ¢ is not COTTECt answer because it is in the active form.
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The correct i ; FRRAgL 1
answer is b because this option is appropriate with the sentence. It is

in the simple past tense in which the sentence is marked by the adverbial of time

“yesterday”. So, the appropriate answer is b,

The company is not independent. It ............ by a mueh larger company.
a, has been owned (1) ¢. isowning (1)
b, isowned(7) d. wasowned (1)

In this item, there are 7 (70%) students who choose the correct answer b is owned
but 3 (30%) students choose the wrong answers. One student chooses a has been

owned, 1 student chooses ¢ is owning and 1 student chooses d was owned,

The correct answer of this is option b. Besides the form of this option 1s the same

as the form of the sentence, the auxiliary in this option also agree with the subject.

Option a is not correct answer because its form is in the present perfect tense while
the answer should be in the simple present tense. Option ¢ is not the correct answer
hecause its form is in the present continuous and it 1s also in the active form, Option d

is incorrect answer because its form is in the simple past tense.
The new highway ...... at the end of this month.

a. will be completed (9) c. iscompleted (1)

b. is completing ( - ) d. will complete (- )

.




In answering this item, 9 (90%) students answer correctly by choosing a will be

completed and 1 (10%) student answers wrongly. This student chooses ¢ is

completed,

Options b and d are not the correct answers because these options are not
appropriate with the sentence, option b i5 in the present continuous and option d is in
the simple future but in active form while in this sentence we need an answer in the
simple future tense in the passive form. Option c is incorrect answer because the form

15 not appropniate with this sentence. It is in the present continuous.

The correct answer of this item is a because its form is the same as form of the
sentence. It is in the simple future tense of passive form, This sentence is formed by

putting “be” after the auxiliary “will” plus past participle.

. They look so busy. Some parts of the aircraft ... by them.
a. are being fixed { 6 ) c. have been fixed (2 )
b. will be fixed { - ) d. isfixing (2)

There are 6 (60%6) students who choose a are being fixed as the cormect answer but

4 (40%) students choose the Wrong answers. There are 2 students who choose ¢ have

been fixed and 2 students choose d is fixing.

The answer of this sentence is in the present continuous tense the same as the form

of this sentence. After the subject of this sentence, it has to be followed by “are”

because the subject is plural. So, the correct answer is option a.

a5
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6.

Options b and ¢ are | -
Are Imcorrect answers because these options are not appropriate

ith the 3 . :
W sentence. Option b is in the simple future and option ¢ is in the present

rfect ten ile i :
pe s¢ while in this sentence we need an answer in the present continuous

tense. Option d is not correct answer because it is in the active form.
B by the University of Indonesia to continue my study.

a. lrave been accepred (8 ) ¢. was accepting ( - )

b. have accepted ( 1 ) d. will be accepted ( 1)

For this item, there are 8 (80%) students who choose the correct answer a have
been accepted and there are 2 (20%) students who choose the wrong answers, One

student chooses b have accepted and | student chooses d will be accepted.

Option b is not comrect answer because its form is in active. Similarly, option ¢ is
not correct because it is in the active form, Option d is not comrect answer because it is

in the simple future tense while the answer of this item should be in the present

perfect tense.

The correct answer of this item is a because ifs form is in the present perfect
tense. It is formed by putting auxiliary “have™ after the subject followed by “been”

plus past participle. The correct form 15 option a.
The roof of all the buildings ...... in a storm a few days ago.

a damage () ¢. were damaging { - )

b. has been damaged (2) d. was damaged {8 )
a8
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The correct answer is given by 8 (80%) students by answering d was damaged

but 2 (20%) students answer wrongly. The both students choose b has been

damaged.

The answer of this sentence is in simple past tense the same as the form of this
sentence. After the subject of this sentence, it has to be followed by “to be” (in past

form) plus past participle. So, the correct answer is option d,

Options a and ¢ are the incorrect answers because these options are in active form,
Option b is not correct answer because the form of this option is not appropriate with
this sentence. It is in the present perfect. The answer of this item should be in the

simple past tense because there is adverbial of fime “a few days ago™,

The cat ..... by my father every night.
a. feed c. is feeding (2)
b. has fed (1) d isfed(7)

In answering the above item, 7 (70%) students choose d is fed as the correct
answer and 3 (30%) students choose the wrong answers. There is only 1 student who

chooses b has fed and 2 students choose ¢ is feeding.

Options a and ¢ are not correct answers because these options is in active form.

Option ¢ is also in the present continuous tense, whereas the sentence needs an

answer in the simple present tense. Option b is incorrect answer because its form is

not the same as the form of the sentence. It is the present perfect tense.
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The correct answer of this item is d because this option is in the simple present

tense which has the same form with this sentence. The appropriate auxiliary used is

“is” because the subject is singular,

38. They ........ by the advocate in the court tomorrow,
a, being defended (- ) ¢. will be defended ( 10 )
b. is being defended ( - ) d. iz defended ( - )

In this item, all (100%) students answer comectly. They choose ¢ will be

defended as the correct answer,

Option ¢ is the correct answer because only this option is in the simple future

tense of passive. Its form is the same as the form of this sentence.

Options a, b and d are not the comrect answers because the forms of these options
are not appropriate with the sentence. Option a is in the present continuous tense and
it does not have “be” before “being, Option b is the same as option a, it i5 in the

present continuous tense. While, option d is in the simple present tense,

39. English ... ....... by Mrs. Margaret al the moment.
a. being taught { - ) c. is being taught (8 )
b. will teach { 1) d. hasbeen taught (1)

48

T T T

— we

L sy B e

e =

P T, T "

£




40,

There are 8 (80%) student who choose the correct answer ¢ is being taught and

there are 2 students who choose the wrong answers, One student chooses b will teach

and 1 student chooses d has been taught.

Option a is not the correct answer because its form is in present continuous tense
and there is no “be™ after being. Option ¢ is incorrect answer because it is in the
active form. It is also in the simple future form while this sentence needs an answer in
the present continuous tense, Option d is incorrect answer because its form is not the

same with this sentence. It is in the present perfect tense.

The answer of this item is b because its form is appropriate with this sentence.
Before “being” there is to be “is” because the subject of this sentence is singular and
the form has to be in the present continuous tense. [t can be seen by the adverbial of

time “at the moment. The appropriate answer is b.

All workers must obey to the contract, because it ...

a. was signing ( =) ¢ isbeing signed (1)
b. has signed { - ) d  has been signed ( 9)

For this item, 9 (90%) students answer correctly by choosing d has been signed

but 1 (10%) student answers wrongly. This student chooses c is being signed.

The correct answer of this item is d because this sentence needs an answer in the

present perfect. This option is in the present perfect tense of passive form. This tense
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is formed by adding “been™ after the auxiliary “have/has” then it is followed by past
participle,
Options a and b are the incorrect answers because both options are in the active

form. Option ¢ is incorrect answer because the form of this option is not appropriate

with this sentence. This option is in the present continuous tense.

. My brother’s birthday ...... by all my family last night.
a. being celebrated ( - ) ¢. has celebrated ( 2 )
b. was cefebrated ( 7 ) d. was celebrating ( 1)

The comrect answer 15 given by 7 (70%) students by answering b was celebrated
but 3 (30%) students answer wrongly. Two students choose ¢ has celebrated and 1

student chooses d was celebrating.

(Option a is not correct answer because its form is in the present continuous tense

and there is no “be” before “beng. Options ¢ and d are the incomrect answers because

these options are in active form,

Option b is the correct answer because its form is the same with this sentence. It is

in the simple pasi tense of passive because there is time adverbial “last night”. The

auxiliary used is “was” because the subject is singular.

42 The new English teacher ..... by all the students.

a. is respected (8 ) c. was respected (2 )
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b. has been respected ( - ) d. being respected ( - )

There are 8 (80%) students who choose a is respected as the correct answer and

there are 2 (20%) students who choose the wrong answer, These students choose ¢

was respected,

Options b, ¢ and d are the incorrect answers because the forms of these options
are not appropriate with this sentence. Option b is in the present perfect tense, option
¢ i5 in the simple past tense and option d is in the present continuous tense. In this
option, there is no auxiliary too, The answer of this sentence should be in the simple

present tense.

In this item, the correct answer is option a because its form is in the simple

present tense of passive.

After finishing the class, we ... ..... by Ronald.

a, istreating (- ) c. has been treated ( - )
b, will be treated { 10} d. was meated ( - )

In answering the above item, all students (100%) also answer correctly. They

choose b will be treated as the correct answer.

Option b is the correct answer because this sentence needs an answer in the

simple future form. 1t can be seen by the adverbial of time “after finishing the class™

in this sentence. Option b has the same form of this sentence,
21
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Option a is the incorrect answer because it is in the active form. Options ¢ and d
are not the comrect answers because these options are not appropriate with this

sentence. Option ¢ is in the present perfect tense and option d is in the simple past

tense whereas the answer must be in the simple future tense,

44. The inaugural ceremony ... ... by the Governor now.
a Isbeingled(8) ¢. has been led (2 )
b. wasled(-) d. willbeled(-)

In this item, 8 (80%) students choose the correct answer a is being led and there
are 2 (20%) students who choose the wrong answer. These students choose ¢ has

been led.

Options b, ¢ and d are the incorrect answers because the forms of these options
are not the same as the form of this sentence. Option b is in the simple past tense,
option ¢ is in the present perfect tense and option d is in the simple future tense, while

the answer of this item should be in the present continuous tense because there is

adverbial of time “now".

The correct answer is option a because its form is in the present continuous tense,
It is formed by putting “being” after “to be” plus past participle. So, the appropriate
answer is option a.

45 That book ....... by the translators into many languages.

a. have been translated { 1) o has been transiated (7 )
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b. was translated ( 2 ) d. translated ( - )

The correct answer is given by 7 (70%) students by answering ¢ has been
translated but 3 students choose the wrong answers. There is only | student who

chooses a have been translated and 2 students choose b was translated

The answer of this item is option ¢ because its form is in the present perfect tense.
It 15 formed by putting auxiliary {have/has) after the subject followed by “been™ plus
past participle. The auxiliary needs in this sentence is “has™ because the subject is

singular, The correct answer 15 option .

Option a is not correct because the auxiliary of this option does not agree with the
subject. The auxiliary “have™ is used to the plural subject while the subject in this
sentence is singular. It should be “has”. Option b is incorrect answer because its form
iz not the same as the form of this sentence. It is in the simple past tense. Option d 1s

not eorrect answer because it is in the active form.

46. The electric light bulb ... .... by Thomas Edison.

a. Invented (-) e was invented { 10 )

b. has been invented ( - ) d. will be invented { - )

For the above item, all the students (100%) answer correctly. They choose ¢ was

invented as the correct answer.

Option a is not correct answer because its form is in active. Options b and d are

the incorrect answers because the forms of these options are not appropriate with this
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sentence. Option b is in the present perfect tense and option d is in the simple future

tense whereas the correct answer must be in the simple past tense.

Option ¢ is the correct answer because this option is in the simple past tense of

passive. This option has the same form with the sentence above.

Most of the earth's surface ........ by water.
a, Cover(-) ¢. has covered( 1)
b. was covered (- ) d. s covered (9)

There are 9 (90%) students who choose d is covered as the correct answer and
there 15 only 1 student who chooses the wrong answer. This student chooses ¢ has

covered.

The correct answer of this item is d because its form is appropriate with this

sentence, It is in the simple present tense of passive.

Options a and ¢ are the incorrect answers because both options are in active
forms. Option b is not the correct answer because the form is not the same with the

sentence. It is in the simple past tense while the answer of this item should be in

simple present tense.

Next year, they ......... 10 the military academy.

a. will be sent (10) c. issending(-)

b. hassent(-) d. being sent{ - )
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The correct answer is given by 10 (100%) students. All the students choose a will

be sent as the correct answer.

Options b and ¢ are the incorrect answers because these options are in the active
forms. Option d is not correct answer because its form is not appropriate with this

sentence. It is in the present continuous tense. Then, option d is not correct for there is

no “be” before being.

Option a is the correct answer because it has the same form with this sentence.
This sentence needs an answer in the simple future tense because there is time

adverbial “next vear”™. So, the correet answer is option a.

The new policy of Education ...... by the government at the moment.
a. has been made( 2) c. wasmade(1)
b. made(-) d. is being made (7 )

In answering this item, there are 7 (70%) students who choose d is being made as
ihe correct answer but 3 students choose the wrong answers. 2 students choose a has

been made and one student chooses ¢ was made.

Option d is the correct answer because the form of this option is in the present

continuous tense which is the same as the form of the sentence. It can be seen by the

adverbial of time “at the moment.
Outions a and ¢ are not the correct aNSWETS because the forms of these options are
P

not appropriate with this sentence. Option a is in the present perfect tense and option
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continuous tense. Option b is the incorrect answer because its form 15 in active,

You can borrow the book in the library, Tt .. by Kathy.

a. Returned(-) c. isreturned (1)

b. has been returned | & ) d. has returned { 1 )

In this item, & {80%) students choose the correct answer b has been returned and
2 students choose the wrong answers. One student chooses ¢ is returned and |

student chooses d has returned.

Options a and d are the incorrect answers because these options are in the active
forms, Option ¢ is not the correct answer because its form is not the same as farm

with the sentence. It is in the simple present tense while the answer must be in the

present perfect tense of passive.

The correct answer of this item is aption b because its form is appropriate with

this sentence. It is in the present perfect tense of passive which is formed by adding

“heen” after the auxiliary (have/has).
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Table 2 : Students’ Performance in Answering Test 1 (Multiple Choice Test)

MNo| Score Frequency Total Score
1 98 | o8
2 94 | 94
3 | 92 | 92
4 84 : &4
5 80 I 80
4 % 1 76
| 74 | 74
q 70 2 140
9 | & I &l

10 800

From the table above, we can see that one student can answer the test |

almost correctly. The total score of this student is 98. There is one student who gets

th ond highest score and the total score of this student is 94. One student gets 92,
& SEC

so this student gets 92 as the total score. There is one student who gets 84, and the

total score of this student is 84, One student gets 80 and this student gets 80 as the

| There is one student who gets 76, and the total score of this student is 76.
total score.

O dent gets 74 and this student gets 74 as the total score. There are two students
ne studen

70 and the total scores of these sudents are 140, There is also one student
who get 70 an

d the total score of this student is 62,
who gets 62 as the lowest score, an
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Based on the criteria of Hasanuddin University, the writer categorizes the

students’ achievement, as follows:

8. There are student 3 students who are calegonzed excellent
b. Three students are categorized good

¢. There are 3 students who are categorized fair

d. One student is categorized poor

To determine the students’ mean score in test I, the writer uses the following

formula:

Total Score
Mean score =
Mumber of students (frequency)
From the table 1, we can see that
Total scores - 800

Number of students (frequency) : 10

Total Score

Mean score =
Number of students (frequency)

800
58
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The students” mean score of test 1 is 80 and it is categorized as good.

= B0

e
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Presentation and Analysis of Data II (Essay Test)

In this part, the writer presents and analyzes the data obtained from the essay test.

In this part, the writer also presents the score obtained by the students in test 1. The

presentafion and analysis of data are based on the correct and incorrect answers of each

item. The same with the data [, the bold-italic printed option is the correct answer in each

itern. The figures after each option show the number of students who choose the sentence.

Table 3: Students” score of Test [
No Items The number of students who gives

Correct %o Wrong %o
1 1 4 40 & 60
2 2 7 T0 3 30
3 3 5 50 5 30
4 4 6 6i) 4 40
5 5 5 50 5 50
5 6 7 70 3 30
= 4 5 50 5 50
. 8 6 60 4 40
9 9 7 70 3 30
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10 10 ; 5 1 i
11 11 6 & ] 0
{ 12 8 & ) 20
13 13 5 - . o
14 14 6 60 4 "
15 15 10 100 " "
16 16 g 80 ’ 25
? H 3 40 6 60
18 18 6 60 4 i
12 W 7 70 3 30
20 " . 80 2 20
2l 21 7 70 3 10
22 22 . i ” 5
23 23 6 60 4 40
24 24 8 80 b, 20
25 25 10 100 0 0

01. The foundation is building a school for the poor people
a A schoal is being builded by the foundation for the poor people
b. A school is being built by the Sfoundation for the poor peaple
¢ The foundation is built by 2 school for the poor people

d. A school has been built by the foundation for the poor people
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e. A school is building by the foundation for the poor people 2

For this item, there are 4 (40%) students who make the correct answer but 6

(60%) students answer wrongly.

Sentence a is almost the correct answer but the verb of this answer is wrong. The
verb should be “built™ because it is irregular verb, Sentence ¢ is not the correct
because its form is not appropriate. It is in the simple present form. The sentence is
also not correct because the student does not change the object of the active become
the subject of the passive. The sentence d is the incomreet answer because its form 1s
in the present perfect tense while this sentence should be completed with an answer in
the present continuous tense. The sentence e is not appropriate because the verb of
this sentence is in the present participle, while in the passive all the verbs have to be

in the past participle,

The correct answer of this item is b because the meaning of this sentence is in the
present continuous tense, the same as the meaning of the active voice. In this sentence
b. students have changed the object of the active becomes the subject of the passive.

Because the subject is singular, the auxiliary used should be “is™.

Hasanuddin University has awarded Maria a scholarship.
a. A scholarship has been awarded to Maria by Hasanuddin University 3
b. Maria has been awarded a scholarship by Hasanuddin University 4

c. Maria a scholarship has been awarded by Hasanuddin University 2

d Hasanuddin University has awarded a scholarship 1

¥
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n answering the above item, there are 3 students who make the correct answer

and 4 students change the sentence like in sentence b, so there are 7 (70%) students

who answer the correct answer, On the other side, there are 3 {30%) students who

make the incorrect answer.

Sentence ¢ is the incorrect answer because the students use the two objects
become the subject of the passive, while the two objects cannot be used both as the
subject in a sentence, Then, sentence d is not comrect because the student does not
change the object of active becomes the subject of the passive. This sentence is also

in the active form.

In this item, the correct answer are the sentences a and b. these sentences are the
correct answers because their forms are in the passive form of the present perfect
similar to the active form. The active form of this sentence consists of two objects.
They are direct object (a scholarship) and indirect object. So, they can be changed
into the passive like the sentence a and b. the sentence has two forms of passive

because in English, both direct and indirect objects of the active can be the subject in

the passive.

03. The secretary is typing those letters,
a. Those letters is being typed by the secretary 3
b. The secretary was typed those letters

¢. Those letters had been typed by the secretary 1




d.  Those letters are being tvped b WV the secretary 5

There are 5 (50%) students who answer correctly by changing the sentence like

the sentence d and Il'I:'E-']'E are 5 {jﬂ%} st |_|d¢l"5 who make ﬂ'lf-‘ WIONg answer.

In this item, the sentence d is the correct answer because this sentence is in the
present continuous tense the same as the sentence f. The students who make this
sentence are correct because they use auxiliary “are™ which agrees with the subject
(in the plural form). After the auxiliary, it is followed by “being” plus past participle.

It 15 the form of the present continuous in the passive,

Sentence a 15 incorrect answer because the auxiliary used in this sentence does not
agree with the subject. It should be “are” because the subject is plural. Then sentence
b iz not correct because it is in the past tense, the student also does not change the
object in the active becomes the subject in the passive. Sentence ¢ is incorrect
because its form is not appropriate with the sentence, It 1s in the past perfect tense

while this sentence is in the present contmuous tense.
. The principal told the students to report an hour before the exam.
The students were told to repart an hour before the exam by the principal 6

b. The students are told by the principal to report an hour before the exam ?

c. The students are being told to report an hour biefore the: exatn by the princigel |

The correct answer is given by 6 (60%) students by making the sentence a above

and there are 4 (40%) students who make the incorrect sentence.
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en i .
Sentence b is not correct because the form is not the same as form of the sentence.
It 1s in the simple present while the answer should be in the simple past form

Similarly, sentence ¢ is not corret because the form is not fhe same.

The correct answer of this item i5 sentence a because this sentence is in the past

form the same as the active form. While the auxiliary of this sentence “were” because

the subject is plural.

The government requires the intermational students to have visa

a. The intermational students required to have visa I

b. The international students are being required to have visa 2
c. The international students are required to have visa 5
d. The international students is required to have visa . 2

For this item, there are 5 (50%) students who make the correct answer but 3

(50%) students answer wrongly.

In this item, the correct answer is sentence ¢ because this sentence is in the

passive form of the simple present tense. This is the correct answer because the

auxiliary used is “are” which agrees with the subject (international students).

Sentence a is not cormect because the student does not put auxiliary (be) before the

vert. while the passive voice “be “ shontd be written not i be omitted. Then,

; b is not corect because this sentence is in the present continuous tense of
sentence

tive form of this sentence is in the simple present tense.

3 While the ac
the passive form. o



Sentence d is i e
I5 Incorrect because 1he auxiliary used “is" does not agree with the

subject.

06. Someane will demonstrate the game to the children,

a. The game will be demonstrated to the children 7
b. The game will be demonstrate to the children 2
¢. Someone will be demonstrated to the children 1

There are 7 (70%) student who make the sentence a as the correct answer and

there are 3 (30%) students who make the wrong answer.

Sentence a 15 the comect answer because its form 15 in the simple future similar to

the active form. It can be seen by its form. After the subject, the students put the

auxiliary verb “will” followed by “be” plus past participle.

Sentences b and ¢ are the incorrect answers because the verb of the sentence b is

in the infinitive form, it should be in the past participle. While sentence is not the

correct answer because the students do not change the object of active become the

subject of passive.

(7. James has translated many books into many languages.

a. Many books has translated into many languages by James 9
b. Many books have been translated into many languages by James 5
ated into many languages by James 3

¢. Many books has been transl
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The correct answer is given by 5 (50%) students by making the sentence b above

but 5 {50%) students answer wrongly,

Sentence a is not correct the students do not pay attention to the subject of the

sentence. The auxiliary should be used here is “have” because the subject is plural.

The students also forgotten 1o put “been™ after the auxiliary in this sentence. The

same mistake also happened in sentence ¢,

The correct answer is sentence b because this sentence is in the passive of present
pertect tense. This tense 15 formed by adding “been’™ after the auxiliary verb have/has
and followed by past participle. In this sentence the auxiliary used is “have" because

the subject is plural,

People play soccer in many countries.

a. Soccer has been played by people in many countries 1
b. Soccer are played in many countries 2
¢ Soccer is played in many countries &

d. Soccer are playing in many countries
In answering the above item, there are 6 (60%) students who make the correct
answer. it is sentence ¢, while the 4 (40%) students make the incorrect answer,

Sentence a is not correct” because its form is not appropriate with the active. It is

in th sent perfect form. Sentence b is incorrect because students put the auxiliary
in the pre X



“are” which : ,
ich used to the plural sub Ject, while the subject is singular. Sentence d is not

correct because it is in the active form.

The active form of this sentence is in the simple present tense. So, after the

subject should be put “be” (auxiliary) that is appropriate with the subject. The
auxihary used here is “is” because the subject is singular. The correct answer is

sentence ¢,

09. My father made this chair two vears ago,

a. This chair was made by my fother two years ago 7
b. This chair made by my father two years ago 2
¢. This chair has made by my father two years ago 1

There are 7 (70%) students who answer comectly by making the sentence b above,

and there are 3 (30%) students who answer wrongly.

The active form of this sentence is in the simple past tense. So, after the subject

should be put “be” (was, were) that is appropriate with the subject. In this sentence,

the auxiliary used is “was” because the subject is singular, The appropriate form is

the sentence a.

Sentence b is not the comrect answer because the students do not put “be™ before

the verb “made” The form of this tense should be “be” phlﬁ past PE.I'TICI[}'.& Then,

sentence ¢ is the incomect answer because 1ts form is in the active form.
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i. Sonth ] j
ath Sulawesi province will be visited by President and vice president next

maonth [

b. South Sulawesi province will be visit by President and vice president next month

sentence a above and there is only one student who makes the incorrect answer.

Sentence a is the correct answer because this sentence has the same as form with
the active form. In this sentence, students have made the correct form, in which after

the modal verb, students put “be” followed by past participle.

The sentence b is incomrect because the wverb that is put by the students is

infinitive. This is not appropriate because in passive all the verbs have to be in the

past participle form.

Alexander Graham Bell invented the telephone.

a. The telephone being invented by Alexander Graham Bell ]
b, The telephone were invented by Alexander Graham Bell 2

The telephone has been invented by Alexander Graham Bell 1

d. The telephone was invented by Alexander Graham Bell 6

For this item, there are 6 (60%) students who make the correct answer but 4

(40%) students answer wron gly.
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sentence a is | i ;
15 Ingorrect because its form is not appropriate with the active, It is in

the present continuous tense while this sentence should be completed with an answer

in the simple past tense, It has no “be” before “being” too. Sentence b is almost

correct but the auxiliary “be” does not agree with the subject. It should be “was"

because the subject is singular. Sentence ¢ is incorrect because its form is not

appropriate with the active. It is in the present perfect tense of passive.

The correct answer of this item is sentence d because the form is the same as the
form of the active. The students have changed the object of the active become the
subject of the passive and the auxiliary used should be “was" because the subject is

singular.

Maria writes many letters every day.

a. Many letters are written by Maria every day ]
b. Many letters is written by Maria every day |
. Many letters have been written by Maria every day 1

In answering the above item, there are & (80%) students who make the correct

answer. On the other side, 2 (20%) students make the incorrect answer,

In this item. the correct answer is the sentence a because its form is in the simple
¥

present tense similar with the active. The auxiliary used is “are” because the subject is

plural then plus past participle.
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Sentence b is |
b is incomrect because the auxiliary of this sentence does not agree with

th by e
| .,[Ei:t- BE:":"H.I.E-E th: S-uhj'ﬂcl 15 Fljuml SE} -EI- 51-1':“]'1:' hﬁ-' uﬂt‘E“- SELI'II'E:I'II:E'. c iE not

correct because its form is not appropriate with the active. It is in the present perfect

form while it should be in the sim ple present form,

The room boy is taking the guest to his room

a. The guest are taken to lus room by the room boy 2
b. The guest has been taken to his room by the room boy 1
c. The guest is being taken to his room by the room boy 5
d. The guest being taken to his room by the room boy 2

There are 5 (50%) students who make the correct sentence like in sentence ¢, but

5 (50%) students make the incorrect answer.

Qentence a is incorrect because its form is not appropriate with the active

sentence. It 15 in the simple present lense while we should make an answer in the

present continuous tense, The auxiliary used is also in plural. It should be in singular.

is almast correct but the students do not put auxiliary (be) before being.

The appropriate form is sentence becaunse it is in the present continuous lense.
C

Before “being” should be put “gquxiliary” (am, is, are) that is appropriate with the
are

subject plus past participle. I this sentence, the auxiliary used is “is” because the
ubyj

subject is singular.
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15,

He has filled the bottles with ink

a. The botties has been fifjed with ink by him 3

b. The botile have been filled with ink by hin 6

c. The bottles was filled with ink by him I

The correct answer is given by 6 (60%) students by making the sentence b above

but 4 (40%) students answer wrongly.

In this itemn, the correct answer is sentence b because it has the same form with
the sentence. It is in the present perfect form by putting auxiliary verb “have, has”
before “been™ plus past participle. The auxiliary verb 15 “have” because the subject is

plural,

Sentence a is incorrect because its auxiliary verb does not agree with the subject.
It should be “have” not “has”. Senténce c is not commect because the passive form of

this sentence is not the same as the form of the active. It i5 in the simple past form.

While the form must be in the present perfect tense.

They will send you a bill at the end of the month

& A Bill will be sent to you by them af the end of the manth 10

In answering the sentence above, all {100%) the students answer perfectly. They

r.
make sentence a above as the correct answe
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Sentence a is
correct because the form of this sentence is appropriate with the

active form. It is in the simple future tense by adding “been” after the modal auxiliary

plus past participle.

16. The boss promoted my father to a high position.

a. A high position was promeied to wiy father by the boss 8
b, My father being promoted to a high position by the boss 1
¢. A high position has been promoted to my father by the boss 1

For this item, there are B (80%) students who make the correct answer. On the

other hand, 2 (20%) students make the incomect answer.

The active form of this sentence is in the simple past tense, So, after the subject
should be put “be’™ (was, were) that is appropriate with the subject. For this sentence,

the auxiliary used is “was” because the subject is singular. The appropriate form is

the sentence a.

Sentence ¢ and b are not correct because the forms of these sentences are not the

same as the active form. Sentence c is in the present perfect tense and sentence b is in

the present continuous tense. While in this item, the form should be in the past tense.

Sentence b is also not correct because there is no auxiliary before “being"™.

17. The English teachers teach reading in the first grade.

a. Reading was teached by the English teachers in the first grade 2

72
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b. Reading taught by the English teachers in the first grade I

c. Reading has been teached by the Engl

ish teachers in the first grade

d. Reading is taught by the English teachers in the first grade 4
e. Reading is teached by the English teachers in the first grade 2

There are 4 (40%) students who answer correctly by changing the sentence like

the sentence d and there are (60%) students who make the wrong answer.

sentence a and ¢ are incorrect answers. The mistake of these sentences are, their
forms are in the past tense and present perfect tense, while the form should be in the
present tense. The form of the verbs are also wrong “reached” it should be “taught™
because it is irregular verb. Sentence is not correct because there is no “be™ before the

verb. Sentence e is also not correct because the form of the verb is just like sentence a

and ¢.

In this item, the sentence d is the comect answer because this sentence is in the

present tense the same as the sentence d. The auxiliary used is “is” which agrees with

the subject (in the singular form).

18. The mechanic is repairing the refrigerator at the moment.

a. The refrigerator was being repaired by the mechanic at the moment y.
b. The refrigerator s being repaired by the mechanic af the moment 6
aired by the mechanic at the moment v

¢. The refrigerator is rep

73
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T :
he correct answer is given by 6 (60%) students but there are 4 students who

answer wrongly,

The correct answer is sentence b because its form is the same as the form of the
active sentence, In this sentence h‘. the students have ﬁllﬂﬂgﬂd ihe ﬂbject of the active

pecomes the subject of the passive. Beeause the subject is singular, the auxiliary used

should be “is™.

Sentence a is not correet because the auxiliary of this sentence is in the past tense,
it should be in the present. Sentence ¢ is incorrect because the form this sentence is

not appropriate with the active sentence. It is in the simple present tense.

Most of the American have chosen Obama as the next president of the USA,

a. Obama has been chosen as the next president of the USA by...... 7
b. Obama have been chosen as the next president of the USA by, 2
¢. Obama has been choose as the next president of the USA by ... 1

In answering the above item, there are 7 (70%) students who make the correct

answer and 3 (30%) students make the incorrect answer.

Sentence b is not correct because the auxihary verb “have” 15 used for plural
subject while in this sentence the subject is singular. Sentence c is incorrect because
the students do not change the form of the verb into past participle. it is still in
assive, all verbs should be in past participle form.

infinitive form while in p
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Sentence a s A
commect because this sentence is in the passive of present perfect

tense, i ' ,
nse. This tense is formed by adding been afier the auxiliary verb havehas then

followed by past participle. the auxiliary used is “has” because the subject 15 singular,

a. The World Cup football game 2010 will he attend by Brazil in south Africa 2
b. The World Cup football game 2010 will be attended by brazil in south Africa8

There are 8 (80%) students who make the correct answer and there are 2 {20%0)

students who make the wrong answer,

In this item, sentence b is the correct answer because this sentence has the same
form with the active form. The students have made the comrect form, in which after

the modal verb, students put be followed by past participle.

Sentence a is incommect because the verb is in infinitive form whereas in making

passive sentence, all the verb must be changed into past participle form.

21. The company gave me a notice of dismissal

a A notice of dismissal has been given to me by the company 2
b. Thave given a notice of dismissal by the company

¢. A notice of dismissal was given (o me by the company

For this item, 7 (70%) students make the correct answer by changing the sentence

like sentence c and 3 (30%] students make the wrong answer.
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sentence a and b :
are incorre I
Heomeet answers because these sentences are in the present

fect tense whi y
P’ET Wl“l& thE EJ'IEWET ﬂ]ﬂuid hﬂ 1 ”'Iﬂ S.FI'III}]E PES‘t ‘[.: Nnse. S..E“t,enm h iﬂ 313'3'

incorrect
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subject in passive and the form is still in active too.

The ¢ i : . . :
orrect answer is seience ¢ because its form is in the simple past tense which

is the same as the active form. While the auxiliary of this sentence “was™ because the

subject is singular.

Someone serves beer and wine at that restaurant.

a. Beer and wine are served af that restanrant 7
b. Beer and wine has served at that restaurant 1
c. Beer and wine is served at that restaurant 1
d. Beer and wine being served at that restaurant 1

There are 7 (70%) students who make the correct answer but there are 3 (30%)

students who make the incorrect answer.

Sentence b is not correct because its form is not appropriate with the sentence, it

is in the present perfect tense while the sentence is in the present tense. it is also in

active form. Sentence ¢ is incorrect because the auxiliary used “is” does not agree

with the subject, Tt is used for singular subject whereas the subject is plural. It should

' ecause it is in the present continuous tense,
be “are”. Sentence d is not correct b

furthermore, there is no “be” before being.

FiL
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For this item :
. Sentence 3 15 the correct answer because its form ig in the simple

resent (e .

subject is plural,

The naughty boys are jumping over the dirty ditch.

a. The dirty ditch was being jumped over by the naughty boys 3
b. The naughty boys are jumped over the dirty ditch I
e, The dirty ditch is being jumped over by tive naughty boys 6

The correct answer is given by 6 (60%) students by making the sentence ¢ above

but 4 (40%) students answer wrongly.

The correct answer is sentence ¢ because this sentence is in the present continuous

tense the same as the active sentence. The students uses auxiliary “is” which agrees
with the subject {in singular). After the auxiliary, it is followed by “being” plus past
participle.

Sentence a and b are incorrect because the forms of these sentences are not

appropriate with the sentence, Sentence a 15 in the simple past continpous tense and

sentence b is in the simple present tense, while the sentence should be in the present

continuous tense.

The police have investigated the case.

a. The case have been investigated by the police

”
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b. The case has been investigated by the police

e. The case is investigated by the police '

In answering the above item, there are 8 (80%) students who make the correct

answer and 2 students make the incorrect answer,

Sentence a is the incorrect answer because the auxiliary verb used is “have”
(plural) while in this sentence the subject is in the singular. So it should be “has”.
Sentence c is not correct becanse the form is not appropriate with the sentence, it is in

the simple present tense, whereas the active sentence is in the present perfect tense,

In this item, the correct answer is sentence b because it is in the present perfect
tense similar to the active form. This tense is formed by adding “been™ after the

auxiliary verb plus past participle.

The English department students of UNHAS will invite the native speakers on the

SEMLNAT,

a. The native speakers will be invited by the English department students of

UNHAS on the seminar 10

Eor this item, the students do not meet a problem i making the correct answer.

Al students (100%) answer correctly by making the sentence a above.

The above sentence is the correct answer because the students have changed the
B

obiect of the active sentence become the subject of the passive sentence. The form is
4 L5
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also appropriate wi .
pr ith the sentence. It is in simple future tense, in which after the

modal verb, students put “be” then plus participte

Table d  : Students’ Performance in Answering Test 11 (Essay Test)
Mo | Score Frequency Total Score
1 88 I BB
2 84 | a4
3 76 2 152
4 72 1 72
5 60 2 120
& 56 ] 56
7 5 1 52
g 48 1 48
10 672

Based on the data above, it shows that there is one student who gets 88 as

the highest scare and the total scores of this student 15 88, One student gets 84, so this

student gets 84 as the total scores. There are two students who get 76 and their total

scores is 152, One student gets 77 and this student gets 72 as the total scores. Two

tudents get 60 with the total score 120, There is one student who gels 56 and the total
= =

of this student is 56. One student gets 52, so this student gets 32 as the total
scores -

. alsg one student who gets 48 and this student gets 48 as the total
is als

scores. There

SCOTES.
19
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The classifi

catio :
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a. One student is cate eorized excellent

b. There are three students who are categorized pood

c. One student is cateporized fajr

d. Three students are categorized poor

e. There are two students who are categorized very poor
From the table above, we can see that:

Total scores 672

Number of students (frequency) : 10

Sa, the mean score 15:

Total Score
Mean score =
Number of students (frequency)
672
Mean scare= —
10
= §7,2

The students’ mean score of test [1 is 67,2 and it is categorized as fair.



Students Ability

Table 3: Students’ score in answering the test | and test I

No| Score Frequency Total Score
1 93 1 93
2 89 ) ] 80
3 24 1 84
1 B0 1 80
5 76 ! 76
5 68 1 o8
- 65 2 130
g 61 1 61
§ i | 55
T 736

The result of the data analysis in the table 111 shows that one student gets the

highest score and the score of this student is 93 One student gets 8% and rhis student gets

89 as the total scores, There is one student who gets 84 and the total scores of this student

is 84. There is ane student gets 80 and this student gets 80 as the total scores, Cne student

gets 76 with the total scores 76, There is also one student who gets 68, so the total scores

of this student is 68, There are two students get 65 and the total scores of these students is
15 511 .

130, One out of 10 students gets 61 and the total scores of this student is 61. There is also

rudent wets 55 as the lowest score and the total scores of this student is 33.
one § gels

81



Based on the criter s
€ra used jn this ‘l.'ll"l']"[llllg1 the writer classifies the students
achievement, as follows:

a. There are 2 students who are classified excellent
b. There are 3 students who are classified good

c. One student is classified fair
d. Three out of 10 students are classified poor
e. One student is classified very poor

Next the writer descnibes the students” mean score in making passive voice sentence

by using formula as follows:

Total Score
Mean score =
Number of students (frequency)
Froin the table 111, we can see that
Total scores - 736

Number of students (frequency) : 10

736

———

Mean score =
10

= 736

g2
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The mean score of
© Stude :
udents of geven, semester at parallel-class. Enli
ci-class, Enghsh

ent, Cultural Science Eamdi,
Departm ence Faculty, Hasanuddiy Lniversity in making passive voice

sentence is 73.6, and it is categorized gs fairv

Studeats’ Achievement per tenge

After analyzing the students’ comect and wrong answer from each item of

multiple choice tests and essay tests, the writer would like 1o present the score of students

in making passive voice sentence per tense. There are 10 items for each tense in multiple
choice tests and there are 5 items for each tense in essay tests. The writer gives 5 points
for each correct item in multiple choice tests, and 10 points for each correct item in essay

test. The presentation and analysis of data can be seen as follows:

A. Simple Present Tense

No Score Frequency Total Score
Testl | Testll | Testl | Test1l | Testl | Testll

1 50 40 ] 1 50 40
2 45 30 2 4 90 120
3| 40 20 3 3 120 | 60
4 35 10 2 2 70 20
s| 30 | o | 2] 0 |

—10 | 10 630

|

ble above, there is 0N€ (10%) student who has 10 correct items in test 1
[ *
From the ta 11, There are 2 (20%) students who

[IE-'E 4 IFI' ]|'¢5’-
33



have 9 correct item in test [ and 4 (40%) students have 3
cormect

3 (30%) students who have 8 correct

items in test 11, There are

1tems in test | ang 3 (30%) students have 2 correct

items in test I1. There are 2 (20%) student who have 7 correct items in test | and 2 (20%)
5]

students have one correct item in test 11 There are 2 (20%) students who have 6 cormect

items n test | and no one student has no correct item in test |[

From the table above, we can see that

Total scores - 630
Number of students (frequency) 10
Total Score
Mean score =
MNumber of students {frequency)
630
Mean score= —
10
= 43

Erom this result, the writer concludes that the students’ ability in making passive

[ sent tense.
voice is poor. They get 63 as the mean SCOTE for simple pre



B. Present Continuous Tense

—

No Score m_ Total Score

Testl | Test Ul | TestT | Testii [ Testi Test II
1] % 30 [ 3 | 100 | 50
2 45 40 2 3 o0 120
3| 40 | 30 3 30120 | w
4 | 35 20 I 2 35 Gl
5130 | 1w | 1|3 | 1o
6 | 25 | o I ¢ | 25| 0

o T o 710

From the table above, there are two (20%) students who have 10 correct items in
test | and one (10%) student has 5 correct answers in test 1I. There are 2 (20%) students
who have § correct items in test 1 and 3 (30%) students have 4 correct items in test I

There are 3 (30%) students who have 8 correct itemns in test [ and 3 (30%) students have 3

: i 2
correct items in test 11 There is one (10%) student wha has 7 correct items in test | and

: ho has &

; : 1. There is also one
correct items in test I and one student has 1 comect item in fest

1 in test I1.
tudent who has 5 correct items in test 1 and no one student has no correct item
sudent who has o €0

From the table above, we can see that

- 710
Total scores

y W
Number of students (frequency 85



Total Score
Mean score =

MNumber of students (frequency)

710

Mean score= ——0

10
= 7]

From this result, the writer concludes that the students’ ability in making passive

voice is fair. They get 71 as the mean score for present continuous tense.

C. Present Perfect Tense

No Score Frequency Tonal Score
Test] | Testll | Testl | Testll | Test]l | Testll

1 45 40 1 ] 45 40

2 35 30 2 4 70 120

3 30 20 3 3 90 60

4 25 10 2 2 50 20

5 | 20 0 1 0 20

6 | 15 1 k3 |

—T | 0 530
< one (10%) student who has 9 correct items in test 1

From the table above, there

: are %) students who
tast [1, There are 2 (20
qrrect answers 1

4c
and one (10%) student has est [1. There

i mi
ag) students have 3 correct 1tems -

; 0
have 7 correct jtems in test | and 4 (4



0%) st
are 3 (30%) students who have 6 cOrect items in test | and 3 (30%) students have 2
udents have

ems in lest
cormect 1 est 11, There are 2 (20%) students who have 5 correct items in test | and

2 (20%) students have 1 correct item test I1. There is one {10%) student who has 4

correct items 1n test | and no one student has no correct iten in test 11, There is also one

student who has 3 correct items in test |
From the table above, we can see that
Total scores + 530

MNumber of students (frequency) 210

Total Score
Mean score =
Number of students (frequency)
530
Mean score= —
10
= 33

From this result, the writer concludes that the students’ ability in making passive

rfect tense.
voice is very poor. They get 33 as the mean score for present perfe

87



n. Simple Past Tense

No Score | Frequeney | [ Total Score |
(Testl Test 11 ‘mm TestI | Test(]

1 | 43 40 [ 2 45 B0 |
2 | 40 30 2 3 B0 90

3 | 3 20 2 3 70 611

4 0 10 3 2 90 20

s | 228 0 l 0125 0

6 20 | 20

10 10 580

From the table above, there is one {10%) student who has 9 correct items in test [
and two (20%) students have 4 correct answers in test 11 There are 2 {20%:) students who

L ' o
have 8 correct items in test | and 3 (30%) students have 3 correct items in test 11. There

' 2
are 2 (20%) students who have 7 correct items in [esi [ and 3 (30%) students have

who have 6 correct items in test I and
correct 1 ' e 3 (30%) students
ct items in test 11, There ar

' ' (10%) student who has 5
1 jtemn 10 tesl I1. There 15 one (%
2 (20 ¥a) students have 1 correct | h

1 i test 11 There i3 also one
correct items in test [ and no one student has no correct item

| ] tl.
student who has 4 correct items 1n 165

t
From the table above, we can see tha

- 580
Total scores

- 10
Number of students (frequency) 88



Mean score =

Mean score =

= 33

Number of students {frequency)

580

—

10

From this result, the writer concludes that the students” ability in making passive

voice is poor. They get 58 as the mean score for simple past tense.

E. Simple Future Tense

' No Score Frequency Total Score
Test] | Test Il | Test] | TestIl | TestI | Testll
1 50 50 I 3 50 150
2 45 40 2 90 160
3| 40 30 2 3 80 | 90
4 | 35 | 20 3 o | 105 | O
5 | 30 10 2 0 60
10 10 785

From the

and 3 (30%) students have 3 COTTe
¢ 1 and 4 (40%) student

have 9 correct items in 1€s

table above, there is one (10%)

student who has 10 correct items in test [

ot answers in test 11. There are 2 (20%) students who

g have 4 correct items in test I1. There

ect items in test | and 3 (30%) students have 3

are 2 (20%) students who have f.00 a9



correct items in test 1. There are 3 (309
o) students wha |
1ave T correct

iems in test 1
There are 2 (20%) students who have 6 Cofrect

items in fest L.

From the table above, we can see thay
Total scores . T8S

Numh-er of Stl]{'IEITIS ffmqllﬂﬂﬂ}':l 10

Total Score

Mean score =

Number of students (frequency)

785

Mean score= ———
10
= 785

From this result, the writer concludes that the students” ability in making passive

vaice is good, They get 78,5 as the mean score for simple future tense,
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CHAPTER 1v

CONCLUSIONS AND SUGGESTIONS

Conclusions

Based on the data obtained through written test given by 10 students of parallel

class English Department of Cultural Science Faculty Hasanuddin University, the writer

concludes the result as follows:

1. The students” scores which obtained through the written test can describe their ability
in making passive voice sentences, There are 2 students out of 10 students who are
classified as “excellent”, the both students get 93 and 89 as their score; three students
are classified as “good”, these students get 84, B0, and 76 as their score; one student
is classified as “fair”, this student gets 68 as the score; three students are classified as

“noor”, two students get 65 and one student gets 61 as their score; and one student is

classified as “very poor”, this student gets 55 as the scare,

2. The mean score obtained by the students in making passive voice Sentences 1s 73.6.

Based on the criteria of Hasanuddin Liniversity, this score is classified as “fair”,

3. The mean score got by the students in making passive voice sentences per tense
sh that Present Perfect Tense is the most difficult [enses. The students only get 53
ows re

for thei re. The second I8 gimple Past Tense by only gets 38 for the mean
or their mean ScOTe.

 Tense, the students gt 63 as their mean score. The
Presen "

score, The third is Simple "
the mean SCOTE is 71. The last s Simple Future

fourth is Present Continuous Tense,

an SCOTe.

Tense, it gets 78,5 as the me 41
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Suggestions

Based on the conclusions above, the writer

would like to give some suggestions,

which are probably useful to solve tle problems found in this study:

. The lecturers also have to explain the

t 1 i
From the result obtained by the students in this study, they are expected to pay more

attention to the rules of English prammar especially to the rules in making passive

voice sentences. Moreover, they are also expected to do a lot of practice

In mastering English grammar, the students are supposed not to depend on only the
lectures, but also they can learn the English grammar from many grammar or

structures books.

The students should also have their own English grammar books. In order they can

improve their capability in mastering all aspects of English grammar.

In teaching English grammar, the lecturers should pay more attention and focus to

srammar especially passive voice. In order, the students can be more understood.

students how to differentiate the use of tenses

and how to recognize it.



